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Teaching and Research Aptitude
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Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
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Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :
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Question Number : 1 Question Id : 27028218170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In Which approach, the young learner 1s dependent upon the instructor for all the
Learning ?
2 ﬁééﬁsﬁﬂ ofnsd et BEED arEddted ?

Options :

Androgogical
| % oERAES

Pedagogical
EMTRES

Dumping
HEoaoh

Drawing out
4 % |(Gronoid =5

Question Number : 2 Question Id : 27028218171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Creating conditions that are quite similar to actual conditions and providing training or
learning m this environment 1s known as
RS s 600 0RO o7y Jding, w8 Enod® 85 B SR Tk

Options :



Assignment
&R0

Tutoral
eogt5°BADES

Simulation
3 @ DEBES

DEIHDHSH’HTiGIl
BSPS(HES

Question Number : 3 Question Id : 27028218172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
The assessment method which emphasizes all aspects of a child’s development 1
eﬁétﬁné&_ @:?‘;‘JS’@@?\J o) e 08 ﬁ%&mﬁj VAR &Céé’é

Options :

Comprehensive
1 Ssolio

Selective
2 % o2E

Periodical
S“‘EF?S}BEEE



Random
4 % cﬁ}w% %Eﬁ))

Question Number : 4 Question Id : 27028218173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The ability to control a group of students depends on:
2.5 E:lmnﬂﬁﬁ]@ﬂ ﬁﬁ)ﬁéﬂﬁ& Rjdi)c::{g‘_ﬂeaécﬁn %‘D;’}Jgﬂ E}EE‘Q asrtatoihoh

Options :

Brand of Institution
éo?’lg ageleay)

Level of Education
S}m‘g ?g&ﬁ

Personality of the teacher and the rapport that he or she develops with them
AR éﬁé&ﬁo‘ a6t 3}01531:13.26‘:1 mﬂaiﬁeﬁgo
3. v

Size of the Classroom
EEHB Toow

Question Number : 5 Question Id : 27028218174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

International literacy day 1s celebrated world wide on
©oSTED eFTd OF TR (@0 THorr B wdHDoLrE ?

Options :

September 5
o8 5

September 8

5 T'-‘c'!go::ﬁ 8

November 14
5 x Ddowb 14

December 5
4 x &028 5

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

2
2702821333
No

null

Question Number : 6 Question Id : 27028218175 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This research feature allows the results of the research to be verified by repeating the study.
& B 685 o8m | H68% HDmeH HY6 @Cﬁédﬂ)?ém e wBirh5 Gndrtetd

Options :

1.



Replicable
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Logical
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Cyclical

Credibility
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Question Number : 7 Question Id : 27028218176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of research it 1s all about moving from “Particular to General™ ?
& Hestdee E}té@éﬁ eome "@Eﬁééé 5008 FrdBchEd” dmb z0%E aargrd
2.8 RS oS L}ééédﬂ}@% @Eﬂécﬁaéo 3%_';{53

Options :

Deductive

1 % ANSDE

Inductive
EsDASDS

Logical
leyany



Unstructured Approach
L @Ec}ﬁéaaﬁééﬁ Eﬂéﬁgfﬁm

Question Number : 8 Question Id : 27028218177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The purpose of which scale 1s usually to rank the subgroups in a certain sequence or
order
& e @ng) ﬁ@éaim Ferdmorr GhdhmEmen a8 S50 Bo [Ehos® B8 Jahnk

Options:

Nominal
VR YV PY)

Ordinal
[SaSdeain

Interval

enodo
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Ratio

2R
4%

Question Number : 9 Question Id : 27028218178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following includes detailed description of methods used for data collection,

sampling  procedures, use of tools for data collection and analysis of data ?
Bero¥ DEGEE"D (HI0DS deraren, Sty Dbk Bmmos Jibns’ 56 S0 &3

Options :

Recommendations & Suggestions
Dartoen obdhn Dette

Scope for further research
2 % =moEd5m HHELESH edsdo

Research Design

HB-S BrtrHsm
3. ¢
Bibliography
R R Y T
4 % %wdﬁlfj @Oé M%u

Question Number : 10 Question Id : 27028218179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

In reasons which is the term used to check whether the research results are consistent or not

568%, éodﬁé&oeﬁﬁ $08% H0men Dollm 6@3_(%30 Bor @ $0:9050% o sodin

Options :

Validity

| DS



Reliability
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Generalizability
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Explicability
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Sub-Section Number : 3
Sub-Section Id : 2702821334
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 27028218180 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the following passage and answer questions 11-13

Performance dimensions are factors that lead to creation. They go beyond the competencies
such as knowledge and skill of the individual. Performance dimensions are broader and deeper
than what a person must now and be able to do in order to function well in his or her job. They
mclude attitude, values and character traits. They exist at various levels of human personality.

At the behavioral level. we can observe skills and knowledge. Social roles and self image
dimensions are found at the mtermediate level. Motives and traits exist at the inner most or
core level. If we can identify those performance dimensions which are most highly correlated
with job success, we can put them together to form a blue print for outstanding performance in
both thought and action,
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Sub questions

Question Number : 11 Question Id : 27028218181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Performance dimensions exist at levels.
DB Teresen TONrOES 57T 0N
Options :
three
1 @ DT



two
DOCD

five

3 % SIC)

four
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Question Number : 12 Question Id : 27028218182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The meaning of the phrase ‘blue-print’ is
22°-(20E) & D00 TBwEy ©9do

Options :

guide

1@ SNV elaled

catalogue
> % e

model
3 e

book
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 13 Question Id : 27028218183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Performance dimensions lay thrust on
Wi ‘5"\- o — s 2., —
2e3D Sereden 2 50200 et CETTON

Options:

ethics
a, s
| @ De35¢h

power

2 % B2

fitness
3 % GrAGLO

technology
OB ess0

Question Number : 14 Question Id : 27028218184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



At the intermediate level can be found
2088 60HE FTroney’ FAFTIOWN

Options :

prejudice

| % DE 2redO

self-perception

= o “f o
5 #r\)ﬂ}%@ﬂrﬁfﬁj

self- distrust

5 o o
3 % OSOD D050

ego
4 % ©IOSE0

Question Number : 15 Question Id : 27028218185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

‘Performance dimensions are correlated with success’ means:
DA TSN DRANOS DEIIE 0200 DN EOEFAN, ST

Options :

Perfgrmance dimensions are directly proportional to success
1 v DB Feresen DTS SENT DS KTDTHOES GOETON

Performance dimensions are incongruent to success
A, &, ™ s A, L
5 % 0V FOSLN D20ITS DO FD)



Performance dimensions and success are on different levels

3 % HABE TOSEN HOAN DBODNO D AN &™) O

Performance and success aren’t interrelated

HABED DO D2B3OHO DBDIB0 D000 EON &0
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Sub-Section Number : 4
Sub-Section Id : 2702821335
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 16 Question Id : 27028218186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
___errors can arise from a lack of knowledge or cognitive capability
and lead to distorted messages.
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Options:

decoding
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encoding
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feedback
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Question Number : 17 Question Id : 27028218187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

communication includes gestures, facial expressions, eye contact

and posture.
295506 & sFsararen, sng, $063 E59%en, HOa
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Options :

para- verbal
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verbal
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non-verbal
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written
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Question Number : 18 Question Id : 27028218188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

listening means paying close attention to the person who is speaking.
D0 90T SFETT 9550 QRSO D00

Options:

active

osone

1. %

confident
Qe 80

Biased

D8 ared 0

Passive

Qo) 05768

Question Number : 19 Question Id : 27028218189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



means that you can understand and share the emotions of others.
&0 D QSRS 27 B LT @0 Tensierd

SH0OID HohsHe%.

Options :

gratitude
Bo)ede3ed

1. %

prejudice

D8 aIred 0

2. %

empathy
3 v RN

Appreciation

nx BFOD

Question Number : 20 Question Id : 27028218190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

To establish trust among teammates, IS necessary.
QTN DG DT, BOFTO TS 29530000
Options :

accountability
| % BRVTOBI0



identity
080y

individuality
3 % 09556550

transparency
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Sub-Section Number : 5
Sub-Section Id : 2702821336
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 21 Question Id : 27028218191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 27028218192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A boat can fravel 1 % times the distance down the stream than up the stream in the same
time. If the speed of the current 1s 3 kmph. then the speed of the boat in still water.

2.8 0805 973 9eAD0ES DY (306 |OSPE0T C5PB0 S0P 1 ¥4 BEX A
DTOS” (HOIPEROIHOE. (3R 3O 1050 3 & oo, A7)0 DS 2cked ol

Options :

12 km

| % 12820

15 km

, ¢ 158.20.

18 km
18 8.5

20 km
20 8.20.

Question Number : 23 Question Id : 27028218193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratios 4 : 7. If 14 15 added to each, they are m the ratio 5 ; 7. The
numbers are

B0tk HoReen 4:7 D )BE’ &wr) aw. (NSRS 14 O, @9 5:7 A
R0QEN

B &0ETON. &
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Options :

Question Number : 24 Question Id : 27028218194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The quartile deviation for the prices of 12 goods m a super market: 10, 20, 40, 15. 18. 60.
51,72,80,22,56,51s
2,8 Ard oﬁi"@g}.rﬁcﬁéﬁ} 12 23e ) GGen : 10, 20, 40, 15, 18, 60, 51, 72. 80, 22, 56, 5. e
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Question Number : 25 Question Id : 27028218195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In an examination Amar got §% less than the pass mark and Mohan got 20% more than the
pass mark. If the difference between the percentages of their marks is 14. then the pass
percentageis

2.5 086 00 2 Py §0T 8% 580345 PO DO FFeTS o7R 570} §0% 20%
5005 SFOTTERD. 570 ST T 055 S50 14 oS, GBS 70

Options:

40%

i)

60%

canot be determined
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Sub-Section Number : 6

Sub-Section Id : 2702821337
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028218196 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (26 to 30)
Question Label : Comprehension

The questions 26 to 29 are based on the following data.
26 <0G 29 (34200 8080 OF0F 0 BT S0ETON.

There are eight persons A, B. C. D. E. F. G. and H. Among them there are three married
couples and two pairs of siblings. It 15 known that
(1) D’sfather-in-law 1s E and F's son-n-law 15 G.
(1)  Members i each pair of siblings are of different genders.
(1)  A’s mother H likes B, the daughter of C and E.
(iv) A 1sB's sister-in-law and two of the three married couples have two children each.
(v)  These eight members are among the three marned couples and two paurs of siblings.
A.B,C.D,E.F. G, 000 Hedh AAMA 08 shden §od.
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Sub questions

Question Number : 26 Question Id : 27028218197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

Who are males among the eight?

Al

DDA 3H0EET YD VI 2

Options :

. v F.G,D,E

E£. DG E

G.C.D.B

FEAGE

Question Number : 27 Question Id : 27028218198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How C 1s related to G?
C e G 8 50220800067

Options :

Mother
E‘é;@?

Mother-in-law
2. % L‘.’—_fJ'l“'_:_éi'T“{f}J



Father

3 % 50|
No relationships exist
JoBoTEN B
4. %

Question Number : 28 Question Id : 27028218199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How D 1s related to B?
D o) B & S000H0DSE?

Options:

Brother-in-law
23%00 006

Brother
PSR

Husband

Sister
&FeSO



Question Number : 29 Question Id : 27028218200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How 1s H 1s related to B ?
H Qder B & 5020500808 ?

Options :
Mother
¢4 E)

1. % -

Sister-in-law

5 % BTN
Sister
3 & SO0
Mother-in-law
4o ST

Question Number : 30 Question Id : 27028218201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



In a certain code language if the word ‘PANCREAS’ is coded as ‘SAERCNAP’,
then how 1s the word ‘STADIUM coded m that language

0x 86 a7’ PANCREAS’ &% 7)), ‘SAERCNAP’ 1T €6 TR, & 276 ‘STADIUM
®n D00 Jer §& TaHG0d

Options :

MUDIATS

MUDIAST

3 ¥ MUIDATS

MIUDATS

Sub-Section Number : 7
Sub-Section Id : 2702821338
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 27028218202 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)

Question Label : Comprehension



Note: Answer the questions 31 to 35 based on the data provided below
Hebam: Bfe @0600S A& 0Han Sl 31 0 35 29405 Jarrara |Fohod.

The production of a company in the year 2019 from January to August are presented 1n the

bar chart presented below.
2019 5056535065 23556 H0S 8f S8 L0 tred 18 B ©0A0AS 275 S

S (5860
2640 2600
UL AUG

Question Number : 31 Question Id : 27028218203 Question Type : MCQ Option Shuffling : No
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Which of the following months shows maxmmum increase m the production over its
immediately preceding month?

800 TS 2 Fo T S0008) Te) §0% &5 )06 103 DARMHLOD LFyS00
Options :

March 550 )
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By how much 1s the average production of last five months more than the average production
of first three months
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Which month shows exactly the same increase in production over its immediately preceding
month as the month of March shows over that of February?
370 T € P DAHGO TR S006), D20 T, 50D Jos G0, O oF

DO 2 TS SIS0
Options :

February (20580

1. %

.. April DS

May 0
3, #

None o)) 5%
4.

Question Number : 34 Question Id : 27028218206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Approximately by what percent did the total production m the two consecutive months of
July and August increases over the total production in the first two consecutive months of
January and February?

28 OO &R O SR TS TS0 &5 )18 233290 HOCK) (2D Fc5e3 Tk
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How many months have more than the average production for the given 8 months period

200 8 FOO PR e t5eh )8 K0T AV T 806
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). CHR. R. 0.0 o5
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American Standard Code for Internet Interchange
©WOSS potss 558 18 z0083¢5 moebiof

American Standard Code for Information Interchange

5 @ oSS Fouf 5°6 $6 aSHEHRS sowbiod



American Standard Code for Information Institute
©J0ES Foisf 558 H8 alSHBonS B8RS

American Standard Code for Institute Interchange
. oSS Yosh 88 585 aeaoesed mow8od
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Deleted e-mails are stored in...........
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Options :

Draft
(5!
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Sent Mail
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A learning situation in which the teacher and student are not in the same location.
SaPGRIALD, deegd 28 a;éoﬁs B egrd 5028

Options :

Dual credit course

08 Bl 5%y

Accredited
JEADE

Distance learning
&59) BdYoh
[ %]

Webquest
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SWAYAM Prabha is devoted to telecast High Quality Educational Programmes on 24x7

bases through a group of ...
Saho (B¢ o0, & Hbd rde) Sy megoe 24x7 ascgaa‘ 685 1Des

Dees (e o (S0 DaowD bé-ﬁoiﬁa:&é&

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

64 Channels

, 32 Channels

16 Channels
3.

. 44 Channels
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Which among the following can be the disadvantage of using ICT in Education?
D56° ol R sd@PNODHLD & OIHS wodin [H8 Lrod Svd

Options :

Collaborative learning
1 % Ser20dS B

Privacy Theft
B30 3P

Motivation
BT

. Experience
DEYHO )
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Which of the following 1s/are Millennium Development Goal?
& B3 RS 29 HOAaDo ©IFB oFe?
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Addressing climate change
THHO PO BT

Improving maternal health
,, S 5 ) FBHDHEDL
Ensuring energy security for all
®otdr d8J08orr GOt wrehd
3. %
Both a and ¢
4 % A 0Baw ¢
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The major source of the pollutant gas. carbon mono-oxide (CO), m urban
ATCHS 18 i
e oz’ Tendy oind) YIIPTEE)E (@) W) G Boifo

Options :

Thermal power sector
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Transport sector
5 @ D& Boio

Industrial sector

5 x POEE Borio

Domestic sector

e Bois
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The main pollutant in the airis .........
......... mOS® ©% sPendo
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CcO

1.4
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Choose the set of non-renewable resources
5958 TOHVY I5BHe JHSNTAHS0
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Uranium, natural gas. soil
| x O00RD0, JFaaraing, Jo

Natural gas. uranium, phosphates
BSrarainyg, onddcho, @fi‘}&g

Petroleum, uranium, geothermal energy
2TDAD0, awORaho, EREEHS 5§

3. %
Shale gas, Uranium, soil
. S MR, awtdabo, Je
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Seismographisusedto ......................
DI HIE BOBRATE
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Measure speed of cyclone
mOTEY Q) EPedhéodd

Measure Earthquake
:‘,ﬁ:ﬂﬁoéﬂﬁ& S SR et

Measure rainfall
ém:lﬁ}& EPe)cned®

Measure charge on any metal rod
B O S 78
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Who 1s crowned as father of Medicine?
DoBE; T U5 6F DEKS ©d TEDoHHEIL 58 7

Options:
Sushrut
ﬁatﬁ?eﬁ
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Charaka
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Varahmitra

Soeie Soj
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i=heitil
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Which of the following curriculum frameworks is not proposed by NEP — 20207

& 103 06 D 0¥ pim S8y NEP — 2020 ¢ gadaosar &
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National Curriculum Framework for School Education
Joen @cﬁ;ﬁa!ﬁ!—i} o B0 L'ﬁ:a’nn S60)

National Curriculum Framework for Adult Education
S@oa3d Sjcﬁgfa:dﬁa c&ahH Galolfel L"a'gai:: 356,

National Curriculum Framework for Technical Education

- FoSHY 3){5;33:55} a3o3 O FE0d [fpe:m H560)

National Curriculum Framework for Teacher Education
@{ﬁgﬁi‘&ﬁ}} Eﬁéééoiﬁéa edach :ﬁ'ﬂ(‘ﬁgo’o‘ [ﬁ)&‘&n 5“3?53&_

Question Number : 48 Question Id : 27028218220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What is the new pattern of 10 + 2 Education Policy in the New Education Policy 2022?
2022 8 dom; dgrod® 10 + 2 Jup AP B°E S a6 ?
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Which of the following 1s not a Professional Course?
& QIS TS DO JBHY Ty e 7
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i L i
Pharmacy
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Engineering
3 % Bo=0OID

Fine Arts
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National Skill Qualification Framework (NSQF) orgamizes qualification according to

series of levelsof .............

b Ty oS [5'95.'} Sy, & QoS TG 8 E&ma} BEPSOTP B8ED TRy T
o ) ol )
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Skills. Achievement and Aptitude
THossin, FHothe, )il
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Skills. Experience and Aptitude
S doraw, endNm, efthd
2. %

Knowledge. Skills and Aptitude

3 ¢ agjéa’m, Sdoraw, edhd

Knowledge. Skills and Experience
4 % SRR, T derin, edgiHn
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Which one of the following is not the basis of Departmentalization?
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Who famously said the “officials make work for each other™?

W

"0 057N 2,505 O BHOTOI0ETD" @) [LaNDOTT OO T )0?
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Peter Drucker
1 % €0 555,56

Ramsay Muir
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Which of the following pairs of books and authors are correctly matched?
806 05 e O Srionsde ases® HOT N8OS 96?

1. Theory of Social and Economic Organisation: Max Weber
88 o9 PHS ok JEeE @Q@ééﬁ : §r5) Jwb

1. Admunistrative Behaviour: H.A. Simon
oBNRBS DarddHb : 8. Q. DS

1. Organisation and Management; F.W. Taylor
98325 ok g0 : F.W. 80b

1v.  Elements of Public Administration: F.M. Marx
DDDot)) vp HPE oGRS FM 576
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Transmitting ideas or thoughts into meaningful symbols 1s known as
e Boe oftSHon o85088 DFmenrr [@Hrdo Johko B Bee @otFD
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5 6 o
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Case method i public administration helps in finding the following aspect of an

administrative phenomenon:;
VI &} S.v 5005 o W, Y. FeRR i o ¥ OB
232J8 @R RS 3R DGE H0reT ¢y 522000 GnE) S00 @07 SHFIG0S
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(Be5E 0Bk Frgrdes HAGhEmen ok
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Which one of these 1s not a staff agency in India?
geid B¥os° HBE® PP 2B 5206 26 ?
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(Cabinet Secretariat
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Economic Affairs Department

> o @Qé Sgddbore oy
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o WP 15 e s 1
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Politics-administration dichotomy 1s closest to the :
oresd 3Sren —HBares Exeriieico 628 BHEe Soénob
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Policy-execution dichotomy

v aperdy - @Qé@ﬁE Bxeriieio
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- Nend - aeRHo ExerrEo
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. 3G DT ~e3gDEP0SEE Brariieo



Legislature- judiciary dichotomy

FID HgF-egahade) Bgerrieio
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Public administration 1s:
585 oBQHS s a8
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A subject of study
etigchd Ddomol FRo

Interdisciplinary in nature
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. @B (H58 @Ko
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The functions of staff agencies do not include :
3;;5} .:I}Eﬁc:, Dese & 3D &0k :

(1) Coordination
Rahdgaho

(2) Planning
[s5e5TmEamen

(3) Execution
es0en DB

(4) Supervision
éﬁéﬁ)ésa

(5) Housekeeping
SrHiBoh

Choose the correct answer :
3580 HErErdo DoHE os
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1. %

- (3) and (5)

5« (2).(3) and (5)

4 (3) and (4)
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Which Act in the USA discarded the *spoils system” in favour of the ‘merit principle™?
USA 6% & S0 ¢ HBE Frgo’ B edEreom ¢ Fond v’ & S8y Jobod ?
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Civil Service Reform Act. 1883
HOS SR 3G oir§ 1883
1.9 &

Merit System Act
_ 0Be HM Séo
F 4 A £a

Hatch Act. 1939
« 85 $&o 1939
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1853 DS H650 Bi0

Question Number : 61 Question Id : 27028218233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The proponent of the concept of ‘bounded rationality” 1s
BN 'ﬁ}ﬁé&&)i@ﬁé T gl ) (DB

Options :

F. W. Riggs

. » F.W.8R



Abraham Maslow
> % ®@Fo Srgh

Wax Weber

3« o5) Jwb
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4V 585 20
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In whose period did the “spoils system™ begin in the USA?
USA &b ¢ Toyoned NP0 358 arewd see0dd (@rEoiod

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
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Thomas Jefferson

1 Gredm 2200 )
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, 850y ed)



George Washington
3 20 3200S
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4 S0 255 )0
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The features of Indian Federal System include:
235e5 DAT 29590 TBEy ©F eTers® 89 damon

1. Division of powers
@OST® D2I23cd
2. Separation of powers
efsed ée)tﬁé‘;éea
3. Independent judiciary
) 5650185 7T° SO LIt
4. Leadership of the Prime Minister
LT 0003 rrOEeh £O
. A written constitution
Oded T2 o0

h

Now choose the right option
Qa0 OB =D DoTHE 0B
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Assertion (A):  According to Chester I. Barnard. authority resides in the
relationship between a superior and a subordinate and 1ts
acceptance by the subordinate.

(8RS (A): 356 aoyh ©58o, whsto @Hdd ol 6X)8 viieds
SoBasn éeavgﬁéf & S &) Homotios® HBsw e
wohs06’ &otnod

Reason (R):  To Barnard, authority is the character of communication m an
organization by virtue of which it 1s accepted.
ré) (R): amg@ 580 ©hs80 ®36 ﬁo?gé‘s ém%é'\)éﬁﬁ
) oFeo. 56 @ofiZBodnds EXmRBAS
Codes:
B :
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
1 v (A) $Bc (R) Bokr 5859 H0Bc» (R) @36 (A) Gn) 535 556

Both (A) and (R) are correct. but (R) is not the correct explanation of (A)
5 % (A) $8asm (R) Bokr 5859 HBam (R) @36 (A) @) $38 DB 500

(A) 1s true, but (R) 1s false
3 % (A) =23y =0 (R) &5y



(A) 1s false. but (R) 1s true
L x (A) 85 =b (R) sy
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Assertion (A): Public Administration is concerned with the management of
public programmes.
@8arSS (A): 585 @&é&@ﬁE ©30 (e Bdefore Aoxires © Sonofodht
Reason (R): Policy-making 1s not the main task of Public Administration.
rdH (R): 998 @&é&@ﬁﬁ ah¥) (e OB Ded Srsgeyd s,

Codes:
555[3:

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
- (A) &8t (R) Bokr ¥BH0 HBam (R) =36 (A) @) DD DdBea:

Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A)
5 % (A) 8am (R) Bor 5858 H6a» (R) ©36 (A) ah¥) X8 DHBes 5o

(A) 1s true, but (R) is false.
5 x (A)asdy s=d (R) 8y

(A) 1s false. but (R) 1s true.
4 x (A) 85p b (R) iy
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Weberian Bureaucracy 1s founded on the basis of
S0BAHR eajtgﬁﬁl_éﬁ) 39 egrdore ﬁ;ﬁjoiﬁmﬁo&?

Options :

Legal-rational Authority
5&5 f:ﬁéjeaté Dlnlzclele)

Personal Authority
28058 whsdo

Traditional Authority
Holorch ehseto

Charismatic Authority
ﬁ&m{&a’?aﬁ f‘_‘ééé e fseo
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“Towards A New Public Administration: The Minnow Brook Perspective”

is edited by

“B) o) &5 585 oBIRAS : & DI @rSh @rE  H52ES " ©d (oo 563
28 Johadod ?

Options:

Dwight Waldo
« EEEE

C. J. Charlesworth
C. J. 858

Frank Marini
v lgo8 5B
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The New Public Administration lays emphasis upon
K 1Hghey ared AL [@rorigslnod ?

Options :

Values
1« DedDen



Value-neutrality

5 % Sende eﬁé&@é

Value-fact dichotomy

3 % Dend-arano  Bgriddo

Neutrality
B398
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Who presided over the Third Minnowbrook Conference?
BNyl &%@PE HEPHTV8 S oEE deroedd ?

Options:

Dwight 11.-"511(10
. B3O TP

Rosemary O'leary

, o 5226286,

George Frederickson
. TRIDBOENS

Robert Denhrdt
4. % o2 BRY
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Postmodern theory 1s essentially anti

eatodseosto fbm;oeﬁo AV TNeTal 308 éé@ééc
Options :

grand theory
1 % lPo& &8

theory
Bladelle
- [~

behaviouralism
% DBBH s

all the above

255
4.4 =
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The Lal Bahadur Shastr1 National Academy of Administration started functioning
at Mussoorie from
oS 2:TETD TR TS ©95°¢5a) &85 &) DS S0F 08— Hod

DR TADEBO [2r80D0D0D
Options :

June 12. 1959
27w 12, 1959

Septemberl3, 1959
25025 13, 1959

September 1. 1959
3 ¢ wxod1, 1959

February 12, 1959
22296 12, 1959
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The Indian Administration does not resemble the Administration system of UK 1n this
aspect

POS0E Posd DBR B4 Foted & Aiahs’ FOE B

Options :

Parliamentary form of government

- G068 (3gDesy éjg}a’nﬁmj



Prime Minister 1s head of the Government
, BT 0B BepepIs

The Head of the state 1s only nominal head of the state

3 % Uﬁﬁﬂg&»ﬁé B0 TSr$Y) ohHDS

Written constitution
4 g)es Dﬂeaﬂﬁsoria'm
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Impeachment proceedings against the President of India for violation of the
Constitution can be initiated in

T°27 {OITR)), &r0aD00IN0CNE) 2rded T ala)ed 3 ©2)F0M LB 5en
209 & FE0DOTISD)

Options :

The Lok Sabha
| % S5O

The Rajya Sabha

- pv' i
5, % OB§E
Either House of the Parliament
. FODoEn D H2 S eone



The Supreme Court

S0 85
. G o
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If the President of India decides to resign. he/she shall address the letter of
resignation to the

2356¢b Tl TS el DA R) Q000D e9ehad) /eI

T BT DD 508 Hoard?

Options :

Chief Justice of India
23°0eb | DT s 00

1.
Prime Minister of India
5 % 27064 | DT
Vice-President of India
3 v 2306b SadT el
Speaker of Lok Sabha
4 % ST G

Question Number : 75 Question Id : 27028218247 Question Type : MCQ Option Shuffling : No
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Which article of the Constitution provides for the Union Public Service Commission?
W HleWN ;_)é,' méﬂr\) Saladed D\:UD‘IMEéJ m:"""°Of<LAL° :3' ol i—%@gk ) @é&@@&)?

Options :

Article 320
1% esES 320

Article 315
esQES 315

2.9
Article 325
3 % esOES 325
Article 335
4 % 9085335
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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The relationship between the specialists and generalists 1s dealt with in this report
Q00 B Frrdes 5655535 gy Homogio HBod S DSoES’ dhabob

Options:

Sarkaria Commission Report
1w Q0O08 s AR DSOS



Haldane Committee Report

, % TDSENSIBO

Kothari Committee Report

5 % SO0 5N ISOY

Fulton Committee Report

4 v DVSEWBIIBY
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Assertion (A): Transparency 1n adnunistration 1s a salient feature of good governance.
b Y v " L -
B8aRES (A): SOOI P8G5 970 BT ) s ©F £0.

Reason (R): The R.T.I. Act. 2005 has contributed in ensuring good governance.
il (R): Srmd ) 6o , 2005 Di5baresH FBostes’ &t HBod

Codes:
8%
Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(A) %605 (R) Bokr 9859 o (R) =6 (A)aing) 9B DBes:
1.+

Both (A) and (R) are correct, but (R) 1s not the correct explanation of (A).
5 % (A) &6050 (R) Bokr 5B 56 (R) @36 (A).cnE) 588 Dt soth

3. %



(A) 1s true, but (R) 1s false.
(A) a35p =20 (R) &5y

(A) is false. but (R) is true.
,x (A) 85 D (R) ey
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Assertion (A): Methods of legislative control over administration in a
D&arts  (A): Parliamentary System are different from those in a Presidential one.
Fdowd &Y & HBTOSRH O Aol HPde
(DVBVADHS 3590050 29 OTF &0
Reason (R): In the Presidential system of the United States. powers of
administration are vested in the President.
&H R): CTWE VSIS @Bs8 S50, HBTON ATTEN T A8
@) )fom
Codes:
gGon:

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
- (A) &86cn (R) Bodr 588D &8 (R) =36 (A).ch¥) [50& HBea:

Both (A) and (R) are correct, but (R) 1s not correct explanation of (A).
, o« (A) 30 (R) Boir $3:58 HBao (R) @26 (A).GE) 585 Ddbem =2t

(A) 1s true. but (R) 1s false
- (A) 25y 58 (R) CEo



(A) 1s false. but (R) 1s true
4% (A) &5p 528 (R) 2P
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Assertion (A): Jomnt Consultative Machinery promotes harmony between
the employees and employer.
B8FES (A): o006 5518638 Db &8 shey BN diregnten
S0GS TNOAFEA)) (8¥ed Y08
Reason (R):  Redressal of employees grievances boosts up their morale.
D (R): 660 Bapod H8:1;060t5%0 a8 STTo) DOoheos.

Codes:
5”551?_)0:

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
. (A) $Bat> (R) Botkr 585D 5605 (R) ©36 (A).GbE) 388 D5w:

Both (A) and (R) are correct, but (R) 1s not the correct explanation of (A)
_— (A) Ban (R) Bodr $8:58 H6ck (R) =l (A).ahE) 588 958es o

(A) 1s true, but (R) 1s false.
3 % (A) a5y =2 (R) Dy

(A) 1s false. but (R) 1s true.
n (A) #5p 520 (R) e3P
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Assertion (A): The relationship of a Mimster and a Civil Servant s that of a
master and a servant.

B8RS (A): o[ 0B RS OB ;06 AAE), 0200 2.8 Srd ahasid)
B0 2.8 25%0 D8 &0t N022080 HoBd

Reason (R): A Civil Servant 1s required to render honest advice to the Minister

6P (R): 0188 Deran s D05 29 5708 DS $B 5065 e9:5080.

Wt

Codes:
555 L N

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
1 % (A) $8dw (R) Botr K858 6asn (R) =36 (A).hE) $88 HHSes:

Both (A) and (R) are correct. but (R) 1s not correct explanation of (A).
- (A) HBcn (R) Bodr G880 Hbctn (R) =38 (A).chE) 5TE DHdes 5°5

(A) 1s true, but (R) 1s false
3 % (A) 25y 58 (R) &50p

(A) 1s false, but (R) 1s true
4y v Q) Sy =D R) 2y

Question Number : 81 Question Id : 27028218253 Question Type : MCQ Option Shuffling : No
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Assertion (A): The Chief Secretary of a State does not have a fixed tenure.
B8FED (A): TR DTS 585908 Deh HANT0 &0k,

Reason (R): The First Adnunistrative Reforms Commussion did not make a
specific recommendation in this regard.
D) (R): I0EE3 HBarem 00,860 ENNS & DAAHoS Ao s

ard ) BAHSD
Codes:
&
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)
- (A) 308c50 (R) Bo&r 388D subadin (R) B (A).qﬁjé@r 00N DRBe:

Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A)
5> % (A) $Bcim (R) Botsr H5885D HBaim (R) ERIA (A).ah8) 388 DHBes 5°LH

(A) 1s true, but (R) 1s false

o Way =d ®) &

(A) 1s false. but (R) 1s true.
4 % (A) 85y 528 (R) 2P
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Which one of the following 15 known as the ‘Magna Carta’ of Local Self-Government?
808 S BN TR 90702 Ty, ST ST €09 ey

Options :

Lord Mayo’s Resolution
erD a3 B éU“éﬂ‘&D

)
or

1. %

Lord Ripon’s Resolution

5 @ @D§ BI® @UEE‘QD

Roval Commission Report
3 & TONS EDAS V3G

Diarchy Scheme
w B o M
4 % GO0 DOS0
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The number of members nominated to the State Legislative Council by the Governor
of the State 15 equal to------of 1ts strength.
O[3 B RES TR IG5 T858) 5 TG T Heheer Hows T 2360 ¢
b o
e 83 VIO,

Options :

].-"I._%rd
w13 8 S0



1/8 th

s x 188 ok

1/6th
4 1/65 Hos
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The principal function of Directorates in a State Government, 1s to
Ol 192068 0SS BOEDL (557 DO

Options:

Undertake policy implementation
Dreare .00 THEE

Render auxiliary services
DAHE IO @odHoI%o

Facilitate policy formulation
DTS ArEer 165eD dnexiedtho Tabhdso



Promote inter-agency cooperation and coordination
QOLIB-DE ) DT H0 DO DS FOSTR)) 185565 yaroci o
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The existence of the Second Chamber (Legislative Council) 1n a State in India largely

depends on the choice of the
S0 E06d 2k 00@065 QEysre Botlo S¢ (BEHBS FYS) 68 6 warto D erdhd

508008
Options:

People of that State
€3 T o) (0022€)

High Court
1T T gD 0

Governor
ginTente]

Legislative Assembly
4 T 0
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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State A Govemnor can 1ssue an ordinance

oo (5385 @30T ¥-----mm- 28 TADSTD)
Options :

Whenever he/she likes
@965 /&I Aot adGacda)) )R

Whenever Chief Minister advises hinmvher
SW L0 DT RD IR

Whenever the State Legislature is not in session

W N W

O° | F0e3023 DIFTFe0 2OKSY ¢

When the Union Government tells him/her to do so
S0 1D2Deh £0 9658 /&5 29eT TONDM Ty Jede) )R
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In which Article of the Constitution 1s the term ‘Federation’ used in the
Constitution of India?

R S e b =, ﬁv. B o M v, Yo &,_1 L9

T2 0000 A @ @f88e0 O DETAM @R A0 Gad3rNotiGod]

Options :



Article 373
08 373

Article 280
esDES 280

Article 90
es05S 90

No where
%) G OTPN0I28 B
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The Audit of the State Government 1s a subject in the
T a) 1902065 0 O30E), @355 9 ——————— & eodo

Options :

Union List

1@ alarc S erdler

State List
) % TR ede

Concurrent List
3 % G e



None of the above
o D) 5D

4.
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Which committee recommended for the Mandal Panchayat System ?
00850 HOTTONE $2HD 0 ) EeES 2T ) B0E?

Options :

Ashok Mehta Commuittee

'-"'E' - W
1 @ OF § Doore Ened

Balwant Ray Mehta Committee
= F &
, % DOJ0S D e E0E3

Singhavi Committee
E:oﬁ:oa“)& Ené3

ARC
ared Hog)Bee

4 % NoZHOo
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Panchavat Raj system was
DOTTONS T°25 ) §ootd

Options :

Preceded by Community Development Program

. S0 805 e3 BID R0 (T SOLd

Preceded by National Extension Service

5 % SO TASS DEITIDS DO Hr|fsdh Soid

Succeeded both Community Development Program and National
Extension Service.
30075063 BIOD DO |, FASS JEIBDINS D8R

3 ¥ Boliod &t EDUQEJJ BHné0d

Succeeded only by Community Development Program

. E805°30¢3 BIODTOES 1P Soxd Jr(ehsh DoREn ©owod
4, e
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Match List — I with List — II by selecting the correct answer from the codes
given below:

1802 @ad 5206 GO H0G DB QTR

) D00ERG0 o e - | HHbdm
e - |l o 2858:5him

List — I List —1I
e -1 o [ ||

a. M.P. Follett 1. The Ecology of Public Administration

20.2). FBE O D502 65 HDT oA AN

b. Frederich Herzberg 1. Dynamic Administration
2508 r0ad BabE G el

c. F.W. Riggs 111. Motivation and Personality
FW. 8) IrBFIS @08 HGB

d. Abraham Maslow 1v. The Motivation to work
9|20 SreS BIrBIS o av6)

Codes:

§Gew:

Options :

a- i b-1v ¢-1 d-111

a-1 b-1iv c¢c-i1 d-u

a-1il b-u1 c1 d-iv

a-1v b= ¢ dy
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Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT and select correct answer from the codes given below:
808 e 5236363 §G0 0B DN NPT oS0 T T

-1 Hbch 2deE-1l ob a8 H%hHim

List -1 List - II
-1 i -1l
a. Autocratic decision-making 1. Participative decision-making
A608 Aarsses il dsiore Aabo §58%5¢%0
b. Democratic decision- making i1. Making decision with little consultation
BEdmds Aot 502,65 D0RO0IOE AYHO BNES0
¢. Rational decision -making 111. Making decisions on the basis of calculation and
choosing the best option
w8 Aartses QPSR SrPBom &eed AJaren sgco
d. Consultative decision- making  1v Making decision by mviting opinions
DOIE0)® APairEses @2 EPAIPON 85 00TIB0 I §T° Ng0H0
B 0EHB0
Codes;
SSEQ:
Options :
a-1  b-u c-i1 d-v
1. %
a-i1  b-1  c-u1 d-v
a-iv. b-ui c¢c-11  d-1
3. %
a-ii b-1 c-iv d-1
4. %
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Match List — I with List — IT by selecting the correct answer from the codes
given below

808 235080 60 b0 N0 MSrTR) JothERdo o ior e - |
8k 2dE -1l b =8 SHDHs

List-1 List—1I
e -1 i - I
a. Theory - X 1. Integration of behaviour 1s the key process m Management.
AT0S$0-X 1990 Tng) 8856 FB A 5areasS’ Sk 139180
b. Theory-Y i1. Calls for vertical job loading.
T00 - ooy &5 SBof §00 Havdo Trhod

c. Job Enrichment 111 Based on the traditional conception of control and command.
&0 990 RPOITTO% AAHO|EED SHBA esTH0 TE), 373 SO Aot

d. Job Enlargement  1v. To provide more control over one’s activities and greater
participation in decisions.

&6 b sOederarerd 006 AoHo|se HBK Adaired
500,09 AP 50
Code:
8%y
Options :
a-1 b-u  c-m1 d-iv
1. %

a-ii b-1 c-i1 d-wv
2. ¢

a-111 b-1 c-1v  d-11

a-1 b-iv  c-u1 d-i



Question Number : 94 Question Id : 27028218266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Comparative public administration does not uphold :
e ¥ (D5HeE HOFSBID H0Dotd:

Options :

Cross-cultural administration
| DED Sojpde aPeid
1. % B

Theory building in administration
W s,
DOTEISS TrEod Brdgea)d

Adoption of normative approaches to administration

HOTIOB [Hdreared) &R @0dB0TIo
3.¢ ' o e

Practical application of knowledge to administration

@m&&é}éiﬁ@_ﬁw 358D @55moéodo
4, % '

Question Number : 95 Question Id : 27028218267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The word ‘Sala” comes from the -------- language.
Y &R DO e 27 c00S HDH0B.

Options :

English
1, % @0l

Sanskrit
QA0 )Ed

Spanish
3. ¢ I

German

4 % 200

Question Number : 96 Question Id : 27028218268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who 1s called the “pariah’ (untouchable) of public administration?
HEE 9B VAS TBwE), FOCSFEOLTR) 7°5)) 9 B DeNTED?

Options:

Woodrow Wilson
| x AE S

Dwight Waldo

, v BIE TP



L.D. White
3 % D06, 365

Fred W.Riggs.

4 33 I.__;.‘:Ié W. E‘lﬁ;}.

Question Number : 97 Question Id : 27028218269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT by selecting the correct answer from the codes given
below
18085 0553805 FBO) DO NBA NAFTR) JOTHESB0 300 e - |

8 e - Il o ad Hhdim

List-1 List—1I
| b ||

a. R. Blake and J. Mouton

R. 2500001, TS
b. Fred Fiedler

Bl
¢. Robert House

o TR
d. P. Hersey and K. Blanchard

2. 376 OO 3. &Y

Codes:
EE‘EJ:

Options:

a-1  b-iv ¢-1 d-1

1.4

1. Path-goal Theory
Sr00-08 10 T 00
i1. Managerial Grid
AT a5 NG
1. Life Cycle Theory
280eb 38 AT00
iv. Theory of Leadership Effectiveness
DEEND JIST DT 00



5 % a-1v b-mi  c-i d-i

3 % a-l b-1v c-ii o d-

4w a-1  b-1 c-iv d-i

Question Number : 98 Question Id : 27028218270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



Match List — I with List — IT by selecting the correct answer from the codes
given below
1808 25 52838 60 HOG OB NPT, oSS0 oo e - |

5600 erde— I o a8 StdHim

List—1I List—1I
sde -1 i -1l
a. Dismissal 1. Is not a punishment and an employee cannot claim
protection against it under Article 311.
Hohachne 35 50 00w &8s eQES 311 19580 78
53050 65 290 Sawsh AL
b. Removal i. Does not make one unfit for reemployment under the
Government ;
SN0y B0 80 e 50 6° BoaTcHBoS §io @8 ot
¢. Suspension i11. Makes one ineligible for reemployment under
the Government
RO 300 2320ed ; &ard PO 5 @GN TG
d. Compulsory Retirement 1v. Does not attract the safeguard of Article 311(2)
808 50 DBeED Q8O 311(2) PRrBODS (S SLoS®
Codes:
gGon
5@
Options :
| % a-1 b-i  c-u1 d-1v
a-i1  b-u1  c-1 d-1v
2. %

3 @ a-i1  b-11 c-1 d-1v

a-1iv ba e d-n

Question Number : 99 Question Id : 27028218271 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Development Administration is
558 srod «3b

Options :

Goal oriented
05 $0 eS80

1. % —=

Change oriented
ety e300

Dynamic
3 Sosdedn

All the above

DI

Question Number : 100 Question Id : 27028218272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The term ‘Development Administration” was first coined by
O Freld @ HTR), INALT 5D SrarodoTdn?

Options :



Edward Wiedner
1 % 50185

U.L.Goswanmu

5 o OISR

Ferrel Heady

L x PS5

Milton J. Easman
DOST. &S
4. ®

Question Number : 101 Question Id : 27028218273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Charged expenditure upon the Consolidated Fund of India 1s
£ 10T BE Ho& @39 RoAOTD 0 TGS )

Options :

submuitted to the vote of Parliament

. FOTOLD £,e30050 DB 0WDE Sotnod
1.

not submitted to the vote of Rajya Sabha

. TP 20085 2,30M50 Db 0SS
2.



not submitted for the sanction of the President
T ataded eRCH0 B0 a0 30528

not submitted to the vote of Parliament

" OO0 £,30050 D8 0BG

Question Number : 102 Question Id : 27028218274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The Public Corporation in India 1s
2rOSTH0S HAE T VIS

Options :

Accountable to Finance Ministry only
@30% 00| 86b § FohB0 7D Za2nd

Partially accountable to Parliament
Dot or8 Lo 2aanad

| C rc
Not accountable to Parliament
3 % JOF0oENT 220D 5

Accountable to Parliament

4 TFOT0end0 BaTr2nTd

Question Number : 103 Question Id : 27028218275 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What 1s the status of local bodies in India in regard to policing
TFEDH0HE Ho2obod) grdd Bdosid ﬁ;ﬁ:é Bghaee Fhe HB?

Options :

Policing not part of authority of local bodies

Q¥ Hoded §ED5% ebsebo 5%
1.¢ "o e

All local bodies have policing authority
@;Kflé EC}D?%@E&&:& 505 ©b80 &od

Only city local bodies have policing authority
HiEs PRE (50 HoKed Sl DD edHsBo &od

Only village local bodies have policing authority
(e&oes ﬁgﬁ]é (58D ﬁo‘ge_}én S 9% wbsSo &ob
4, %

Question Number : 104 Question Id : 27028218276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



During the passage of budget in the Parliament ‘guillotine’ 1s applied

to the demands which are
FE0EIS 2T SBrG0 HoSGI0M & SSroderD ASSS

DBATE ?

Options :

Discussed and approved
_— 158707 SJIrOH0N arHE

Discussed but not approved
5 % 5008 e3rO0w Howe &i)rHE

Not discussed for want of time

5 o QA0 BDEFIH0S 5010050 sBE

Discussed and reduced

000 SH0DD B8
4, %

Question Number : 105 Question Id : 27028218277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The C & AG of India does not audit the receipts and expenditure of
88 oo ©Bb aSbm J03 DB SN HOA PE YO
es¢5 DA

Options :

Municipal undertakings

v Oares QoRe &H(Bsmren
1.+



State Governments
s UDL%% \aﬂwm

Gove l'lllllii'lﬂ conp anies

3 % 1D2Ded s Bonden

Union Government
D00 |02ed o

Question Number : 106 Question Id : 27028218278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The Chairman of the Public Accounts Committee of the Parliament 1s
appointed b}
FOD0E HEE 9F063) L¢3 THS DOT DOHOIHED-

Options :

Speaker of Lok Sabha

S5 025 )56
1.4

Prime Minister of India

2GS | DT
5 % & 08 [DTT%)

President of India
3 % 0SS T RIS



Chairperson of Rajya Sabha
TP23£002) 0O Yo

Question Number : 107 Question Id : 27028218279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The grant made 1n advance by the House of People in respect of estimated
expenditure 1s called
@O S;0IPRE H0DOA0D FR 69 IS SHOATT TR [Potneld Her Hepasth

Options:

Token grant

| % 6583 (reoén

Vote on credit

S5 S 8RS

Exceptional grant
g OO [TPotn

Vote on account
4 565 35 eF0es

Question Number : 108 Question Id : 27028218280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Globalization means
1DDoWEGE o

Options :

Concentration of financial market system in a single state
o &3 BE0S° €308 33835 50 TolHESe

Nationalisation of private enterprises
— o, W &y
D) DoV eredcrESe

The growth of a single unified world market

e, 5 "
2,8 88 eb DD0 S8 590
3. w L L. fad

Foreign capitalist transaction
o 5y = oY &
4w T2 PG T B

Question Number : 109 Question Id : 27028218281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In which year was the decision of separating accounting function from
audit function taken by the Government of India ?
S3AE H0E S H0S 9FT0L30R H0E S5 3% TR AV0H0 2 HoSed 80
23565 (2550 BenFS) B?

Options :

| % 1950



1965

2. #
5 v 1976
4 % 2000

Question Number : 110 Question Id : 27028218282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The Economy Cut Motion seeks to reduce the proposed expenditure of

a demand for grant by

& 5
D50a0 863 Fraam 0% GBEY (2

SNoIFRE |D0DEd) ADOA.

Options :

Rupees one hundred
1. ® 00 Orarden

Rupee one
e OTorow 2.5¢3

A specified amount

8 ooy
3 D0 Jwedo &

An unspecified amount

4 % @00 InLos®

BT SO, % Fngos®



Question Number : 111 Question Id : 27028218283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which. among the following departments, was created under the Ministry of
Social Justice and Empowerment in May 2012?

20128 0B DarmrereT FErRE 7000 FOTES SO0

S0|edes s 72 80 B Doaontod?

Options :

Department of AYUSH

i
300l T

Department of Disability Affairs
D8er0f SfSS T e 2o

Department of Youth Affairs
CANIB ) fadadTEd F°)

Department of Refugee Rehabilitation
o 0T HIT T T

Question Number : 112 Question Id : 27028218284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
Social pathology means
FASD arored ot

Options :

Study of origin. nature and causes of social 1lls.
craare3 s Goi12e5e) AP0, () 2700 sOCI SOETe @90 G0N0,

Study of history of society.
Qdadres KOs 9 ad0.

Study of psychopaths.
Ses208 Bies e9chgaS0

Study of social taboos.
re2E Qe @500,

Question Number : 113 Question Id : 27028218285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Arrange the following international years in the chronology of their first
observance by the UNO m an ascending order.
806 08T &0h 0 oo UNO 80 [@idorr Srdis) Soddoe o8 5res

b 5
5o $a008 @08 00

] International Year of Child.
0TS 2700 05150,

1. International Women's Year.
90T 0% DTy 0Je8 Y00,

II.  International Year of Elderly Persons.
©0S$T S0 HyEVe) H03S)80.

IV. International Year of Family.
©90ST B0 $0e002 H0He50.

Options :

_— e 4 B 4

II. mi; IV, 1

2. #

3¢ L L IV, 1II
i L Im, IV

4. %

Question Number : 114 Question Id : 27028218286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Assertion (A): The joint famuly system 1s disintegrating m modern India.
H8FES  (A): AL 2rdSTI0S et S96002) 55920 DD NHB 0.
Reason (R): Transition from Agrarian to Industrial economy is responsible
for its disintegration.
D (R): H557r000 00 aTO[Eans e308 H2:50%0 HB8I0S TR

sz?_jjm&ﬁ]% 50630
Codes:
5659@_20:
Options :

Both (A) and (R) are wrong.
1% (A) 0605w (R) Bodr e)).

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
, o (A) 2080 (R) Bodr $BS 506050 (A). &3 (R) Ty $BS Dsbe.

(A) 1s correct, but (R) 1s not the correct explanation of (A).
- (A) HBIA, 520 (R) @A (A)TB0E), OB De3Sed 5°¢.

(R) 1s correct. but (A) 1s wrong.

4 % (R)ODS6, 52 (A) ).

Question Number : 115 Question Id : 27028218287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What percentage of seats in educational instifutions are reserved for
Scheduled Castes in India?

—5 v, = ; &
2PESTE 08 DTPs D0V AP EoererEd DO FTH0 VLW TETFONOIFOW?



Options :

22 percent
22 F°e50

17 percent
2. % 17 3¢50

15 percent

15 F°6d0
3. %

19 percent
4 % 193650

Question Number : 116 Question Id : 27028218288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What 1s not a function of the Welfare State?
DHOZ 0 Trago TIE), DO 5208 IO

Options :

To meet the needs of the disadvantaged population.

_— S0EBS BT 90T S8 K0

To bridge the gap between the poor and the rich.
5 % @GN O KL s WOST ) SNoERE



To cater to the materialistic needs of the population.
252 GBE), 2T 5HT O S8,

To provide specific services on a subsidised basis in the area of health and
education.

4 % @O0 B0 DS 508065 HE)IA [TBSAES DO D ©0B80TIS0.

Question Number : 117 Question Id : 27028218289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match List — I with List — II.
& (Bob Both erdarerd edhthihan

List — I List — II
Ar A | AR | |
a. Chipko Movement 1. Medha Patkar
D), & dSgad0 DT 5
b. Narmada BachaoAndolan 2. Sundarlal Bahuguna
SBT 2TS SOSFS 0085erS 53ofen
¢. LokpalAndolan 3. Madhav Gadgil
SETFS 0SS STAESTHS
d. Western Ghat Bachao 4. Anna Hazare
DB DI 2T ") 0
Codes :
gGen
Options :
1% a-1 b-2 ¢-3 d-4

2.



Question Number : 118 Question Id : 27028218290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is not true about Economically Weaker Sections” job quota?
e30% 20957 ST & 58 Fer 1O0D DA D220 5°C0?

Options :

Supreme Court upheld its validity
. DDOTD T3 Teeren DSOS

It 1s introduced by Constitution 103 Amendment Act
20 0700 103 DG 0 5T |DSF DLHE0H

It provides for 10 percent reservations for Weaker Sections
=3 " Fog T WL
2O DOFN 0 TOE) 10 T°50 O2T 5220 @0HNOH

It provides for 11 percent reservations

y v 20 11 TS0 B2T 20D 0O



Question Number : 119 Question Id : 27028218291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Reservations for the SCs in the public services has been provided under --------
of the Indian Constitution.
238 Trer 300 HET DO FE R8s 823 §ae) ——— 80 @odotaGEon

Options :

Article 315
1 % ©Q85315

Article 335
2. o 'f:ﬁ'r@é'fﬁ 335

Article 365
eDESD 365

Article 375
. 8850375

Question Number : 120 Question Id : 27028218292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Right of Chuldren to Free and Compulsory Education Act. 2009 grants

the right to free and compulsory education to all children between the age group of
20O &r)ed DO AB)0E 8 30, 2009 AOY0H DAL aFED DAY DS
&5) HOOOXOS fHos~t TuK)B.

Options :

5 to 14 years

_ 5 000G 14 D0Sed yTren

6 to 13 years

5 & 0 0O 13 HODHeES Jorew

5 to 15 years

3 % 5 00 15 Doded Trew

6 to 14 years

4w 6 A0 14 D05 TPeN

Question Number : 121 Question Id : 27028218293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Charles E. Lindblom’s name 1s associated with this model of public policy
TORE. o068 D% IO FerR) BE) & Srs 0200050300

Options :

Incrementalism

Pt T r_ﬂ - o Y -
1 20 18Doerdes0



Systems theory
OR)ed)) P00

Rational choice theory

_ BIENDIN 0D DT 0H0

Institutionalism
4 % QO NEID0

Question Number : 122 Question Id : 27028218294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Inputs. outputs and feedback are concepts associated with this approach to the
study of public policy

v 25 W "y & - o\ W Ly
BB, @ajEa)Ien HON G2rISE @R [Her Jgrdo oS MO0

& 588 Somofod I ARNINGY

Options:

Increamentalism
1 % BoEDotodeo

Institutionalism
Do NS0

Rational choice model

3 % TSP AT



Systems theory

L= oy S i
e edd ) I Ce0

d

Question Number : 123 Question Id : 27028218295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
‘Reinventing Government’ 1s written by :
‘6 BT50e300 K581 Do [Kordy S S0

ol

Options :

Campbell and Allen
g STODBO HOAN OB

Christenson and Brown

B R)® 0B 12T

2. %

Garron and Overman

TS HBAW L.3TS
3. = i

Osborme and Gaebler

&P )57 SHBASH TG
4. & o

Question Number : 124 Question Id : 27028218296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0
Arrange the following in their order of sequence regarding requirements
for a rational policy-making.
TrHDRHS e Jooge ST G000 806 a3

63 Qe 150085 @08 105

(1)  Identification of policy alternatives to attain goals.
OF IO FOOUNEFRE DT (&) Aire> (HB0oa).
(1)  Analysing costs and benefits of different policy alternatives.
DS O (DB AT S (HTFET O DIN0ISO.
(11) Selecting the most efficient policy alternatives.
€9¢550¢5 RaNPH0 ) DTS [HE5ar) AR OTRESEO.
(1v) Identification and ranking of goals.
o0 1H00ay) BTN T gosoh.

Codes:
EEEJ:
Options :
a-11. b4, c-i dav
1. %
a-1v. b=l ¢4, d-m
2.

. a=111, b=a1. e=1v, d-l

a-1.  b-u1. c-1v. d-u
4. %
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Organizations that pursue the common interests of groups of people

by attempting to influence the making and implementation of government
policy are known as:

1005€3) 0TIC80 T°5T° 95300 a8 NedaFare) B (DAPBT O Fdarios

2l —a

L

QSO (20 £ DTS Erdge)s 005 @ensd (Herddo I ﬁo?g@c‘fp

Ber Henakd)
Options :

Political parties
| x T280HrQen

Interest groups
2308 Hdrasten

Lobbvists
eFDoNREN

Social movements

n Pear238 e sedren
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This theory assumes that governments will be influenced by various interest
groups and that it will not be biased for or against any of those groups
& DT°00 (HeHEr 100 BAS wireorr Bor HiBT50mT HErso Srbdowe

506 2 808 DAFFOT (292TDBDYTONA G 0O
Options :

Rational choice theory

- BTN ODE D00

Institutionalism

2] W
:’JDQEJ 050

2. %

Pluralist theory

3 ¢ 2)aT0BE S & P00

Marxist theory

. S0 )N 00
4,
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When a relevant minister holds a news conference to announce the

government’s intent to introduce a new policy. what 1s 1t known as?
— _'l-“ o = W i &, o L4 = W £
B¢ e |Dad .:Jéé 192085 ¢ ST (D30T HoD0OS

0SB TT HBse HSPhe DITBTR), A 0S8 Denoertn?
Options :

Decision-making
| % AP0 SXFHCSO



Policy Evaluation

AEPD e 0500

Policy Implementation

3 @ DTTI0 E9DEN

Policy Change

4 % TR0 )
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On which date was the Swachh Bharat Abhiyvan launched?

D509 27863 e9D)0S® 2 AN |rdodotdadod?

Options :

2nd October
1 ¢ 28525

15th August

5 % esfiey 15

26th January
3. % 200200 26



14th April
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Public Administration 1s basically the study of
(38D areome FRo ([@rFiudorr & egkchido

Options:

Maintenance of law and order
1 % 708 PAS AF e

Control of trade and commerce

5 % HEE ardergo PO A0DOo(HR

Implementation of public policy
3 @ 8380 Dgrare 90N

Politico-administrative dynamics of the state.
O°| o) TP3500-085 TBdabdS ).

4, %
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Which of the following is a feature of ‘good governance™?
208 73S NN ©5 800 62

Options:

Accountability

| % BTNTOSH0

Transparency
> & 0686

Rule of law

3 % HEaegoh aPe

All of these
4@ VIV
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‘Mandamus’ 1s a writ 1ssued by the superior court
Jr0NR RO &) ¢ T A0 270 Taod S B8RS BE

Options :

Asking a public official or any authority to perform legal duties

| @ DRSS DD QB jrotsEdE (HEHe § Q50 BrrHogih ediicio



Enquiring into the legality of claim of any person to public office

, W SOt OOrR8 & 58 B Son 3wEy DS HBOD VBTSN

Asking a person who 1s detained by any other person, to appear before a court
o 25800 ABIOH0ND I35 §P 0 F808SH0R FBo

Against any lower court not to do any act in excess of their jurisdiction
. 5 S HOOE WO & TIG3 TTODFTER Ofes FPH 53 3TForr aB)B
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In the context of the New Public Management theory, public administration
15 apparently moving
Srdd (Hehek DB dgrodo ﬁéﬁﬁé@éﬁ &0 (e areid S B¥& DB
(1)  from rule to result orientation
Q0DN0 0k HOE0
(1)  from system fo enterprise
AR c0G 0P
(1)  from the duties of administration to the rights of citizens
0T JENO DH0G O TN O S

(1v) From decentralization to centralization.
DBolBEsm S8 BolBEsn 39k

Select the answer by using the codes given below:

A 2 ;20858 FHO &HTFAOD NArETRR), 20Sod:
Codes:

§&en:

Options :



(1) and (1v)

(111) and (1v)

3 ¢ (1). (11) and (1i1)

4. % (11), (111) and (1v)

Question Number : 133 Question Id : 27028218305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not a cause of abandoning the “spoils system’
in favour of the ‘merit principle’ in USA?
$00ES Mo eBbs 8 THand) VD B F60IH GriE SES0 sFonodeds

5880 5°t0?
Options:

Inefficiency in administration
HBTSS ©HNGS

Discontinuity in administration
. b
HBTFOSS ESrAos) B

Growing complexity in administration
i g 2V ' = |
DO @SS Ho8aed oo



The Black Rights Movement

0y 28 FEYe &O500
4. ¥
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The acronym SMART relates to:
SMART @93 0 A8 5020800307

Options:

E-governance
1 % 3-N38)Q)

Good governance

5 @ VOO

Network govermance
. SEI6) 83838

(L%

3
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Which one of the following is not a feature of Good governance?
2808 T3S DO DHOTODS 0% 00 5D?

Options :

Transparency
| % POSEES

Accountability
232000

Nepotism
2ODE

Rule of law

ﬁ&fnaﬂé@ﬁa P
4, %
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Relations between the specialists and generalists 1s dealt by the
Nad)EDeN a0BAW arrde ﬁﬁ%ﬁj&) 0658 005eN BT Claeunle Jchabaron

Options :

Haldane Committee Report
| % DS EDES I



Sarkaria Commission Report

, % 00008 SIS BEY

Fulton Committee Report

3 v DVS EME3 IO

Kothari Committee Report

4 x ST0ENSITOY
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Constitutional safeguards to civil servants in India are ensured by
2rOSTHOS D %06 njﬁogm ﬁﬁ%ﬁ)ﬂ}é} T2 £0NO RN | oeden @E‘Jéﬁ D5

§&yoabaron
Options :

Article 310
. 086310

Article 312
. 308 312

Article 311
3 v ©Q55 311



Article 315
4 % a5 315
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‘Position classification’ is the classification of—
DBARS TE o 50880 0TS HY H088e—

Options :

Salaries

1 % BT

Duties
2. o) fk’l:," 220

Departments

2T TTEN)

Personal status of incumbents

] n ) L=
L g -, a Sl ol %
OSH0D €red) o770 o355¢5 s

4. ®
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Which one of the following terms emphasises more on process rather than structure?
800 B DB JT73e90 L0 (DT E0)ed [T sSAIN0E?

Options:

Governance
1 [talaitaby

Government

Administration

3 % 20O

Public administration
(9gDesy HOITED
4, %
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Which one of the following had suggested that an Inter-State council called

Inter-Governmental Council should be set up under Article 263?
800 T3S I 263 ©BES D5 m0Kb KSGRobS TS ©F a8

2005-PE TG FHoTd @ ArdoN0B ?
Options:

Sarkaria Commission

1 ¢ TP OA Saaa®



First Administrative Reforms Commission

5 % R0ES OO D00 H0e Ealaa®

Second Administrative Reforms Commission

3 % DO 20T 0N 0 adm

Twelfth Finance Commission
D) 0690 e308 HoO
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The major attribute of Correlation Analysis 1s
DETH0208 DBAE TBVEY, 1D ©F 20

Options :

Variations among variables
3000208 0655 BDEBeD

Association among variables
5 ¢ 20002085 s @200

Difference among variables
3 x 00028 ) Mg HgETED0

Regression among variables
300020S Y 05 BB KGO
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The conceptual framework in which the research 1s carried out is known as
D03S 3 SR8 &) S0 @D H6) & 68 Henard

Options :

Research design

| @ DTS BES

Synopsis of research
DHOFTES B}, TTr0F0

Research paradigm
DB Hoedhd

Research hypothesis
DOFES HBZeHS
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The advantage of random Sﬂlllp]ill':' 15
QIS HTINE AeddTFer” QNS (G320

Options :

It 1s reasonably accurate
. 20 Teer DB DT B0

It 1s an economical method of data collection
26 Ber idn D Pt 20 étge'la

It 1s free from personal biases
26 5:8Ke HE e H odsor dotnod

All of the above

4o 2 &) DAY
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Which one of the following 1s 100icaﬂj the first step in the process of research?

808 S B @OE0T BTN HEHES e eachoify?
Options :

Formulating a research design

1 % DOTHIBBS & &rerodoticso

Formulating a research question
5 HOFCEIS D90 SrsroBoIE0



Deciding about the data analysis procedure

3 % B D3N 58O dPowosto

Formulating a research hypothesis

4 % DOTEDH0EISD SFEroBOTIto
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The format of thesis writing is the same as in
DR Be3oh o065 8ob rd PO G0LNod

Options :

Writing of Seminar presentation
1 % P00 HBSESH Trah G0

Preparation of research paper/article
HBTST® D0 /erEd0 SO0

A research dissertation

2,8 HBTAT orod T30
3.¢ 50

Presenting a workshop/conference paper

4 5 0LEXD/SS)BSY D6
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Which one among the following statement is true in the context of the
testing of hypotheses?
8060 PEDoSOS H0E 130 HEEH i IO HBIO

Options :

It 1s only the alternative hypotheses that can be tested.

1w 10507 A0 HOEO Y0 I (B HB88 odardseraw.

It 1s only the null hypotheses that can be tested

VR HBEe 500 Sr|ed HOE ovsarcsEron.

Both the alternative and the null hypotheses can be tested.
% (D) 0% SDBGID #dg HOEL JSen Bodoedd D88 ouistin)

Both the alternative and the null hypotheses cannot be tested.
o (DTET) AN DO Edg HOFEY5en Bor DO otsnchs.
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Evaluation Research 1s concerned with
SSarer :08d BTG BV8  HoOBODSE

Options :



How well are we doing

| @ S00 DO eI TAWT"),0

Why are we doing

5 % NSO DOCHE TV 0

What are we doing

3 % SN0 O TWT) O

Where are we doing

4% SN0 D8 TV O
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The population that provides the basis for sampling 1s known as :
A §500 T80 606 23rreTe) @EF @0LrED:

Options:

Sample
SNV

1. %

Sampling frame
5 o QT e

Target population
3 & DLjaTY



Sampling unit

4% CHeATET ORT0E)
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What 1s the correct sequence of Scientific Research?
Answer by using the codes given below:
& v, = v W, S iy @
AL RO DOTEIS TBE) OB (5200 20e3?
(@IS FEOD &IBTA0D DT 0 RS 505 )

1.  Formulation of Hypothesis
58565305 o edE8e
1.  Selection of Problem

o

DaNRE DOE
i1 Generalization
oS358

iv  Collection and Analysis of data
Ber &3 B DI

Options :
e (. (D). (i), ()
, o (D). (0). (). (i)

L s (). (). (). O)

4w (). (V). (1). (i)
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List—1 List — I
AR | Ao |
a Observation (1) Facilitates insight nto the respondents.
5630 Dotbe 2 @00)al edis Do,
b Interview (11) Data collected are more reliable.
2008758 DEOODN BEr B0 a0zt e Tekod
¢ Schedule (i11) The researcher fills up the information collected from
respondents himself.
AE°S HBFB%H D)oK Hod VIGO0 NFTTR)
JoyaEeth
.. (1) The respondent has to himself/herself fill the entries
d  Questionnaire g ., ; - -
577 3160 & DodiHth Ao QDO JOIEION Yy BOTTe
o e : ;
(v) The time and resources can be saved by selecting a smaller
segment of respondents.
DyosKeH D) D) dgerrenr JoHESIE0 T75Tr dCHO
005 SO ST TODL W,
Codes:
gGRen
Options :

. a- (1) b-(iD) c-(iii) d- (v)

2. &

L8

a- (1) b-(1) c-(u1) d-(1v)

a-(v) Db-(11) c-(1v) d-(111)



4w (0 b-(u) e-(m) d-(1v)



